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10.

Instructions for the Candidates e

1. Write your roll number in the space provided on the top of this page. :

2. This paper consists of seventy five multiple-choice type of questions.

3. Atthe commencement of examination, the question booklet will
be given to you. In the first 5 minutes, you are requested to
open the booklet and compulsorily examine it as below :

(i) To have access to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be given.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.
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where (C) is the correct response.

(ii)

Example :

Your responses to the question of Paper Ill are to be indicated
in the OMR Sheet kept inside the Booklet. If you mark at any
place other than in the ovals inOMR Answer Sheet, it will not be
evaluated.

Read the instructions given in OMR carefully.

Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answer Sheet, except for the space allotted for the relevant
entries, which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test OMR Answer Sheet to the invigilators
at the end of the examination compulsorily and must NOT
carry it with you outside the Examination Hall.
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POLITICAL SCIENCE

Paper -l

Note : This paper contains seventy-five (75) objective type questions. Each question
carries two (2) marks. All questions are compulsory.

1. Right to form association is a 4. Assertion (A) : The paradox of the

(A) Civil Right contemporary period is that while caste
as a system is dead or dying, individual
(B) Legal Right castes are thriving.

(C) Political Right Reason (R) : Caste plays an important
(D) Natural Right role in Indian politics.

In the context of the above two

2. Who among the following argued that statements which among the following

India constituted a laboratory for is correct ?

comparative political analysis" ?
(A) Both (A) and (R) are correct but

A) Amit Bhandari
® | | (R) is not the correct explanation

(B) Atul Kohli of (A)
(C) Prabat Patnaik (B) Both (A) and (R) correct (R) is the
(D) Christopher Jefferlot correct explanation of (A)

. . (C) Both (A) and (R) are not correct
3. Which one of the following powers rests

exclusively with the Council of State in (D) (A) is not correct but (R) is correct

India ?
5. Who among the following authored the

(A) Torecommend creation of All India book : ‘State Against Democracy’ (1988) ?

Service

e _ (A) Robert Dahl
(B) Toinitiate impeachment against the

President (B) Rajani Kothari
(C) To alter boundaries of the State (C) Ashis Nandy
(D) To appoint the Attorney General (D) Partho Chatterjee
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6. The new cold war started with

(A) The US recognition of Peoples

Republic of China for mutual trade
(B) The US refusal to ratify SALT —
(C) Soviet intervention in Afghanistan
(D) The conversion of Diego Garcia into
a military base by America
7. The Polluters Pay Principle (P%) was
adopted at
(A) Rio Summit
(B) Stockholm Summit
(C) Geneva Summit
(D) Vienna Summit
8. Abraham Lincoln's famous statement of

democracy was expressed for the first

time at
(A) Washington DC Address of 1862
(B) Gettysburg Address of 1863
(C) San Francisco Address of 1865

(D) New York Address of 1866
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9. Which among the following are two

features of India's Nuclear Policy ?
a) First use
b) No First use

c) Nuclear retaliation to first strike

will be massive

d) Docile strike
Answers :
(A) aandc
(B) aandb
(C) bandc
(D) cand d
10. The name of the Laccadive, Minicoy
and Amindivi islands was changed

to Lakshadweep by an Act of

Parliament in
(A) 1970
(B) 1971
(C) 1972

(D) 1973
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11. Which of the following statements

given below is/are correct ?

a) The Armed Forces Special
Power Act (AFSPA) was first

enforced in the hills of Assam

b) The AFSPA is enforced in
regions notified as "disturbed

area"

¢) Under the provisions of the
Act, the Chief Minister of a
state can declare the whole
state or part of it as 'disturbed

area'

Select the correct answer using the

code given below :
(A) aonly
(B) aand b only
(C) a,bandc

(D) b and c only

K-0514

Total Number of Pages : 32

12. The preamble says that the state in
India will assure the dignity of the
individual. The Constitution seeks to

achieve this object by guaranteeing

(A) The right to adequate means of

livelihood to each individual

(B) Equal fundamental rights to each

citizen

(C) Equal wages for equal work to

each individual irrespective of sex
(D) Just and humane conditions for

work to each individual

13. Apart from the composition and the
power of the proposed Lokpal Anna
Hazare's agitation generated yet
another major public debate. Which

was that debate ?
(A) Political Vs civil society debate
(B) Parliament Vs Executive debate
(C) Parliament Vs Judiciary debate

(D) Parliament Vs President debate

Paper Il
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14. Given below are two statements :
One Assertion (A) and the other
Reason (R).

Assertion (A) : Traditional caste system
is India's greatest enemy.

Reason (R) : The caste system is based
on exploitation of depressed classes.

In the context of the above two
statements which among the following
is correct ?

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R)
is not the correct explanation of (A)

(C) (A)istrue, but (R) is false
(D) (A) is false, but (R) is true
15. Which one of the following statement is
correct ?

(A) M.N. Roy was opposed to private
property

(B) M.N. Roy was not apposed to
private property, provided it did not
lead to exploitation

(C) M.N. Roy was a strong supporter
of private sector

(D) M.N. Roy was opposed to

co-operative economy

K-0514
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16. Major consequences of European Union
coming into existence are

1) Common Currency

2) Single Foreign Policy

3) Single European Market

4) Single Taxation

Choose the correct answer by selecting
the codes given below :

A) 1and 2
B
C

D

2and 3

(A)

(B)

(C) tand 3

(D) 3and 4

17. Which among the following cities is
proposed as the head quarters of the

BRICS Development Bank ?
(A) New Delhi
(B) Shanghai
(C) Moscow
(D) Beijing
18. Which among the following is the correct
order of BRICS summit uptil 2012 ?

(A) Delhi, Sanya, Brasflia,
YekaterinBurg

(B) Sanya, Brasflia, Kiev, Delhi

(C) YekaterinBurg, Brasflia, Sanya,
Delhi

(D) Delhi, Sanya, Kiev, Brasflia
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19. Who among the following wrote the book

"Globalization and its Discontents" ?
(A) James Petras

(B) Joseph E. Stiglitz

(C) James M. Rossi

(D) Noam Chomsky

20. The Partial Test Ban Treaty (PTBT)
which was signed in Moscow, came

into force on

(A) 8™ August 1963
(B) 10™ August 1963
(C) 8" October 1963

(D) 10" October 1963

21. The first SAARC summit was held in the
year 1985. In which of the following

places the summit was held ?
(A) New Delhi

(B) Dhaka

(C) Rangoon

(D) Lahore

K-0514
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22. The Bangkok Declaration was
responsible for the formation of

(A) SAARC
(B) ARF

(C) NAFTA
(D) ASEAN

23. Which one of the following countries
recently joined UNSC as a
non-permanent member ?

A) Iran
B
C

D

Israel
Sri Lanka

Pakistan

(A)
(B)
(C)
(D)

24. There are treaties
dealing with the aspects of terrorism by
the UN.

25. Oslo Accord was signed between
(A) PLO and Israel
(B) PLO and Iraq

(C) PLO and Lebanon
(D)

D) Iran and Iraq
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26. The ultimate goal of the Brettonwoods
Agreement was

(A) The creation of a global alliances
of states

(B) The creation of an economic trade
bloc

(C) The creation of a new economic
world order

(D) The creation of a military alliance

27. Which article of the Universal Declaration
of Human Rights is/are most closely
connected to the right to stay alive ?

A) Freedom of Speech

B) Prohibition of Torture

(A)
(B)
(C) Right to Food

(D) Right to Nationality

28. Assertion (A) : With onset of
globalization, the traditional state
system has lost its relevance.

Reason (R) : This has been replaced by
corporate state system.

In the context of the above two
statements which among the following
is correct ?

(A) Both (A) and (R) are true. (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)is false but (R) is true
(D) (A) istrue but (R) is false

K-0514
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29. Which among the following was the

theme of sixteenth NAAM summit ?

(A) Sustainable Development and

Global Peace

(B) Lasting Peace through Joint Global

Government
(C) Peace through Dialogue

(D) Dialogue, Peace and Sustainable

Development

30. Assertion (A) : Balance of power
believes that no state becomes too strong

to dominate other state.

Reason (R) : Disturbance in balance of
power leads to destabilization of world

order.

In the context of the above two
statements which among following is

correct ?

(A) Both (A) and (R) are true. (R) is the

correct explanation of (A)

(B) Both (A) and (R) are true. But (R) is

not the correct explanation of (A)
(C) (A)istrue (R) is false

(D) (A) is false but (R) is true
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31. Which one of the following was
established to ensure administrative
efficiency of the Government
departments ?

(A) Central and the Statistical
Organisation

(B) Organisation and Methods
Division
(C) Ministry of Personnel, Public

Grievances and Pension

(D) Ministry of Statistics and
Programmes Implementations

32. Assertion (A) : Public choice approach
to public administration fundamentally
believes that individuals act rationally.

Reason (R) : Individuals are not utility
minimizers.

In the context of the above two
statements which among the following
is correct ?

(A) Both (A) and (R) are true. (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true. But (R) is
not the correct explanation of (A)

(C) (A)istrue (R) is false

(D) Both (A) and (R) are false
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33. What are Select Committees ?

(A) Committees of MPs who scrutinise

legislation

(B) Committees of special interest

groups in the Houses of Parliament

(C) Committees of MPs appointed to
keep the work of Government

department under review

(D) Official committees appointed to

deal with select policy questions

34. Assertion (A) : Hierarchy brings rigidity
and affects human relationship in

administration.

Reason (R) : Hierarchy is a built in
device to achieve coherence in the

organisation.

In the context of the above two
statements which among the following

is correct ?

(A) Both (A) and (R) are true and (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is

not the correct explanation of (A)
(C) (A) is false and (R) is correct

(D) (A)is true and (R) is false
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35. In explaining administrative decision-
making Simon's decision theory focussed
on which one of the following ?

(A) The single best choice made by the
decision maker

(B) The limits of information availability

(C) The constraints on computational
abilities of the administrator

(D) Bounded rationality and
satisfaction

36. Match the following :

Theory Exponent
a) Decision 1) Martin Shubik
Making

b) Game Theory 2) John Burton

c) Realist 3) Mortan Kaplan
Theory

d) Systems 4) H.J.Morgenthau
Theory
a b c d
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37. Assertion (A) : Philosophical
approach to public administration is
one of the oldest approaches to study

public administration.

Reason (R) : Because it devices its
basic arguments from Hegel's

Philosophy of Rights.

In the context of about two statements

which among the following is correct ?

(A) Both (A) and (R) are true (R) is the

correct explanation of (A)

(B) (A is true but (R) is not the correct

explanation of (A)
(C) (A)is false (R) is correct
(D) Both (A) and (R) are false
38. What is the threefold classification of
authority as given by A. Etzioni ?

(A) Programme, Organisation and

Normative
(B) Budgetary, Personel and Utilitarian
(C) Coercive, Normative and Utilitarian

(D) Coercive, Normative and

Organisational

Paper Il



39.

o,u—’é,i— I @Lﬁ%— Il BRodR Brodr 3R
éraéidod #oéeéﬁ%ﬁdz{ WP ROOINT emgd
Qe :

Je3-1 I3 =1l
ed ed
a) TR 1) S=° dgere
SR ReR®

b) mTRWETONR  2) HOT Feode
ST AOTFLITOI
f%w%oé

C) SR TWDF 3) I FdRw*
S BT’

d) O BRTFT 4) SR Fewo

TR, A

DQOTEY O
&

%@e@zﬁeﬁa@

Paper Il

Total Number of Pages : 32

40. T3TRTI(A) 1 BTOOWT ATROTY) VBT
‘Be0T "o €203’ QYIRFO LTRTH

e Q08T.

52029 (R) : 93033 ‘Feor’ Q) ‘w0028’ I
SRROT B SR MORBRW IS,

=0T TePING FoTIr T, FIAT 3w
@0ZT FOCIRNT ?

(A) (A) B2 (R) 20= 70 3 (R)
IR (A) 0 BOCIRT DT

(B) (A) 33 (R) a0@p R0 &S (R)
@aigg’g)da (A) o3 ZoC3RT
é}do’%cﬁoe&

(C) (A) =0 (R) =),

41. TowBEOL @d:’é TONR BTT NG LONNS

Ny Falon] qi@ed%ojas% z’neﬁdz@ﬁ
(A) TOTFRAT ©RTT0D
(B) mvzo0iss
(C) oowsecd Boxg@

(D) Towmdeod SRRLT

K-0514



39. Maitch List— | with List — Il and select the
correct answer using the codes given

below the lists:

List -1 List-II

a) Human 1) Rensis Likert
Organisation
b) Theory of 2) Elton Mayo
Social and
Economic
Organisation
c) New Patterns of 3) Henry Fayol
Management
d) The Human 4) Max Weber
Problems in

Industrial

Civilisation
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40. Assertion (A) : Dependency theory is
based on "core" and "periphery"

division of the world.

Reason (R) : Because core prospers

all the expenses of periphery.

In the context of the above two
statements which among the following

is correct ?

(A) Both (A) and (R) are true. (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A)istrue but (R) is false
(D) Both (A) and (R) are false
41. Attitudes toward the political system

and its various parts are often called
(A) Public opinion

(B) Collectivism

(C) Political culture

(D) Political character
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42. Who has described election as the heart

of Democracy ?
(A) Woodrow Wilson
(B) Abraham Lincoln
(C) James Bryce
(D) Joseph Schumpeter
43. Who described political development as
institutionalisation ?
(A) Aristotle
(B) Lasswell
(C) Samuel Huntington
(D) Robert Dahl
44. "Political culture is composed of attitudes,
beliefs, emotions and values of society

that relate to the political system and

political issues". Who said this ?
(A) Lucian Pye

(B) A. R. Ball

(C) Robert Dahl

(D) David Easton
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45. Laws, regulations, policies and decisions

are
(A) The demands of a political system
(B) The supports of a political system
(C) The inputs of a political system
(D) The outputs of a political system

46. Who is of the view that Constitutional
state is one in which the powers of
government, the rights of the governed

and the relation between the two are

adjusted ?

(A) James Bryce

(B) K.C. Wheare

(C) C.F. Strong

(D) Carl J. Fredrich

47. Who laid out the important

characterisation of bureaucracy ?
(A) Max Weber

(B) R. K. Merton

(C) M. Crozier

(D) Thomas Carlyle
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48. One of the differences between
authoritarian regimes and totalitarian

regimes is that totalitarian regimes

(A) Focus on economic rather than

ideological issues

(B) Practice radical socialist

agendas

(C) Create charismatic leaders and

unthinking followers
(D) Seek to control the state
49. Which among the following five types

of kings are directly facing Vijigishu

in Raja Mandala ?

(A) Ari, Mitra-Mitra, Udasina, Akranda,

Madhyama

(B) Ari, Mitra, Ari-Mitra, Mitra-Mitra,

Ari-Mitra-Mitra

(C) Ari, Ari-Mitra, Mitra-Mitra,

Parsvanigraha, Udasina

(D) Mitra, Mitra-mitra, Madhyama,

Akranda, Akrandasara
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50. Locke's Second Treatise on Civil
Government set out a theory of

(A) Natural rights
(B) Aristocracy
(C) Democracy
(D) Patronage
51. The central point of social contract
theory is that the state is
(A) Democratic
(B) A man made institution
(C) Absolute
(D) Sovereign
52. Who among the following made the

greatest contribution to the application of
Marxism ?

(A) Habermas
(B) Engels
(C) Lenin

(D) Stalin

53. Feminists are suspicious of
(A) Intellectuals
(B) Equality
(C) The State
(D) Citizenship
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54. How does Kymlika define a

'nation-state' ?

(A) A nation containing one group or

culture

(B) A nation containing a majority
language

(C) A nation containing a majority

culture
(D) A nation recognised as a legal

entity-a state by other nations

55. 'Those who say that religion has
nothing to do with politics do not know
what religion means' ?

Who made the above statement ?
(A) Thomas Hobbes

(B) Mahatma Gandhi

(C) J. S. Mill

(D) T.H. Green

56. Who criticised social contract as 'bad
history, bad logic and bad ethics' ?

(A) H. J. Laski
(B) Henry Maine
(C) Earnest Barker

(D) F. Wilson
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57. 'The reason why men enter into civil
society is the preservation of their
property'. Who said this ?

(A) Thomas Hobbes
(B)

(C) John Locke

(D) J. S. Mill

J. J. Rousseau

58. The concept of natural right is
associated with the name of

(A) John Locke
(B) Plato

(C) Machiavelli
(D)

D) Karl Marx

59. Which of the following statements of
Plato is correct ?

1) Plato's communism covered not
only property but also the wives

2) Plato's communism lays emphasis
on common renunciation of all
private property by guardian class

3) Plato's communism was essentially
meant for the Greek city-states

4) Plato's communism stood for
drastic changes for all sections of
society.

Of the above statements

(A) 1,2 and 3 are correct
(B) 2,3 and 4 are correct
(C) 1,3 and 4 are correct
(

D) 1,2 and 4 are correct
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60. John Locke was a great supporter of

61.

62.

63.

K-0514

(A) Absolute Monarchy

(B) Constitutional Monarchy
(C) Aristocracy
(

D) Democracy

'Right is a reasonable claim recognised
by society and enforced by law'. Whose
statement is this ?

A) H. J. Laski

(A)
(B) Bosanquet
(C) T.H. Green
(D)

D) Karl Marx

Who among the following has not
contributed to study of early Indian

political thought ?
A) Saletore
B) K. C. Wheare

C) Altekar

(A)
(B)
(C)
(D) K. P. Jayaswal

Who among the following theorists is
credited with the origin of the modern

conception of identity and self ?
(A) Mc lver

(B) John Locke

(C) Will Kymlika

(D) J. S. Mill

64.

65.

Total Number of Pages : 32

Who among the following says that
public administration includes the
operation of only the executive branch

of government ?

(A) L. D. White and Luther Gullick
(B) L.D. White

(C) Luther Gullick

(D) W. F. Willougby

Assertion (A) : When Aristotle wrote
"Politics" his aim was to ameliorate the

then existing Constitutions ?

Reason (R) : Best Constitution was his

ultimate goal.

In the context of the above two
statements, which among the following

is true ?

(A) Both (A) and (R) are true. (R) is the

correct explanation of (A)

(B) Both (A) and (R) are true. But (R) is

not the correct explanation of (A)
(C) (A)is false (R) is true

(D) Both (A) and (R) are false
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66. Who said "Revolution is a sweeping
fundamental change in the predominant

myth of a social order" ?
(A) Neumann
(B) Huntington
(C) G.S. Peter
(D) H. Arendt

67. Who among the following political
theorists has argued that distributing
public good should be done in such a
way that it should be to the benefit of
the least advantaged ?

A) Mahatma Gandhi
B
C

D

B. R. Ambedkar

(A)
(B)
(C) Plato

(D) John Rawls

68. Assertion (A) : Aristotle believed that
emotions have intellectual dimensions.

Reason (R) : Emotions are
interconnected to judgement of
particular situation.

In the context of above two statements,
which among the following is correct ?

(A) Both (A) and (R) are true. (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)is false (R) is true
(D) Both (A) and (R) are false
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69. Assertion (A) : Rational choice
theorists dismissed the importance of

liberty and culture.

Reason (R) : They believed in actor's
interest and that these are pursued

rationally.

In the context of the above two
statements which among the following

is correct ?

(A) Both (A) and (R) are true. (R) is

the correct explanation of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation
of (A)

(C) (A) is false (R) is true
(D) Both (A) and (R) are false
70. Who among the following argued

that 'taxation is equivalent to forced

labour" ?
(A) Robert Nozick
(B) John Rawls

(C) Rousseau

(D) Mc lynter
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71.

72.

73.
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(A) d a c
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71. Assertion (A) : Conflicts are common
among the states.

Reason (R) : Regionalisation may take
either the path of integration or the path
of co-operation.

In the context of the above two
statements, which among the following
is correct ?

(A) (A)and (R) are true, (R)isthe
correct explanation of (A)

(B) (A) and (R) are true, (R) is not the
correct explanation of (A)

(C) (A)istrue, but (R) is false

(D) (A) is false, but (R) is true
72. Who among the following stated that "All
states, all powers, that have held or hold

rule over men have been and are either
republic or principalities" ?

A) Locke

(A)

(B) Aristotle
(C) Plato
(D) Machiavelli

73. In the name of 'War on Terror', the US
attacked on
(A) Iraq
(B) Iran
(C) Afghanistan
(D)

D) Pakistan
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74. Match the following :

Committee Chairman
1) Ad-hoc a) Dr.B.R.
Committee Ambedkar
on the National
Flag

2) Credential b) Alladi Krishna

Committee swamy Ayyar

3) Drafting c) Jawaharlal
Committee Nehru

4) Union d) Rajendra
Constitution Prasad
Committee
1 2 3 4

(A) d a b ¢

(B) b d a ¢

) d b ¢ a

(D) d b a ¢

75. Assertion (A) : Indians federation is also
called as ‘asymmetric federation'.

Reason (R) : Asymmetric relations are
expressed in unequal distribution of
power relations.

In the context of the above two
statements which among the following
is correct ?

(A) Both (A) and (R) are true. (R) is the
correct explanation of (A)

(B) Both (A) and (R) are true but (R) is
not the correct explanation of (A)

(C) (A)istrue but (R)is false
(D) Both (A) and (R) are false
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